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QUESTION 1

An administrator is tasked with upgrading an existing vSphere environment to version 7.0. There are existing VMFS3
and VMFS5 datastores in the environment. Which statement is true regarding this upgrade? (Choose the best answer.)

A. An ESXi 7.0 host will NOT recognize a VMFS3 datastore.

B. VMFS3 is supported with ESXi 7.0 to store boot configurations only.

C. A VMFS5 datastore CANNOT be upgraded; a new VMFS6 datastore is required.
D. An ESXi 7.0 host can automatically upgrade a VMFS5 datastore.

Correct Answer: C

Reference:

https://docs.vmware.com/en/VMware-vSphere/6.7/com.vmware.vsphere.storage.doc/GUID-DAD74662-
EO9E-44A4-82F1-DB7A3433CEF9.html

QUESTION 2

An administrator identifies a snapshot file named "Win10-000001-sesparse.vmdk" on a datastore. Which type of
information can be determined about this datastore? (Choose the best answer.)

A. The datastore is formatted as VMFSS3.
B. The datastore is formatted as VMFS6.
C. The datastore is a raw device mapping.
D. The datastore is a vSAN datastore.
Correct Answer: B

Reference: https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.storage.doc/GUID-
88E5A594-DEBC-4662-812F-EA421591C70F.html

QUESTION 3

Which feature would allow for the non-disruptive migration of a virtual machine between two clusters in a single VMware
vCenter instance?

A. vSphere vMotion
B. Cross vCenter Migration
C. vSphere Storage vMotion

D. vSphere Fault Tolerance
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Correct Answer: A

Explanation: vSphere vMotion allows for the non-disruptive migration of a virtual machine between two clusters in a
single vCenter instance, as long as there is shared storage and network connectivity between the clusters. References:
https://docs.vmware.com/en/VMwarevSphere/7.0/com.vmware.vsphere.vcenterhost.doc/GUID-3B41119A-1276-404B-8
BFB- A32409052449.html

vMotion is used to move the VM to a different cluster within the same vCenter. This only works if both clusters share the

same storage. If they don\\'t you also need to perform a Storage vMotion. Cross vCenter Migration is only used to
migrate to a different vCenter.

QUESTION 4
A vSphere cluster has the following vSphere Distributed Resource Scheduler (DRS) group configuration:

*

Virtual machine (VM) group named DB
*
Host groups named PROD11 and PROD55

The administrator wants to force the VMs in the DB group to run on the hosts in the PROD11 group. However, if all the
hosts in PROD55.

Which VM/Host rule must the administrator create to ensure that these requirements are met?

A.

A preferential rule between the DB group and PROD11 group

B.

A preferential rule between the DB group and the PROD55 group

C.

A preferential rule between the DB group and the PROD55 group

D.

A required rule between the DB group and the PROD11 group

Correct Answer: A

Explanation: Option A is correct because it allows the administrator to create a preferential rule between the DB group
and PROD11 group, which will force the VMs in the DB group to run on the hosts in the PROD11 group if possible, but
will allow them to run on the hosts in PROD55 group if necessary. Option B is incorrect because it will create a
preferential rule between the DB group and PROD55 group, which will force the VMs in the DB group to run on the
hosts in PROD55 group if possible, which is not what the administrator wants. Option C is incorrect because it is the
same as option B. Option D is incorrect because it will create a required rule between the DB group and PROD11
group, which will force the VMs in the DB group to run only on the hosts in PROD11 group and not allow them to run on

the hosts in PROD55 group if needed. References: https://docs.vmware.com/en/VMwarevSphere/7.0/com.vmware.vsph
ere.resmgmt.doc/GUID-60077B40-66FF-4625-934A- 641703ED7601.html

2V0-21.23 VCE Dumps | 2V0-21.23 Study Guide | 2V0-21.23 Braindumps 3/4


https://www.passapply.com/2v0-21-23.html
https://www.passapply.com/2v0-21-23.html
https://www.passapply.com/2v0-21-23.html

VCE & PDF https://www.passapply.com/2v0-21-23.html|
2024 Latest passapply 2V0-21.23 PDF and VCE dumps Download
PassApply.com

QUESTION 5

An administrator can attach a baseline to which two inventory objects? (Choose two.)
A. Resource pools

B. Data centers

C. Datastores

D. Templates

E. ESXi hosts

Correct Answer: BE
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